Ta. Draw the counters to complete the
calculation 100 x 34.

Th H T 0
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1b. Draw the counters to complete the
calculation 53 x 100.
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W

2a. Match each place value chart with
the correct calculation.

Th H T )
A.

Th H T o
B.

26 x 100 100 x 53

W

2b. Match each place value chart with
the comrect calculation.

Th - T o
A.
Th H T o
B.
100 x 56 63 x 100

W

3a. Which statement is correct?

Th H T o
A. 8% x 100 > %8 x 100
B. 89 x 100 < %0 x 100

Y

3b. Which statement is correct?
Th H T o

A.75 x 100 > 57 x 100

B. 75 x 100 = 100 x 74

4a. True or false? 67 x 100 =

Th H T O

W

4a. True or false? 49 x 100 =

Th H T o

T




